Squaring v/4x + 13 — 3:



Squaring v/4x + 13 —
(VAx +13 —3)?= (V4x + 13 — 3)(V/4x + 13 - 3)



Squaring v/4x + 13 —
(VAx + 13 —3)%= (V4x + 13 = 3)(V/4x + 13 = 3)

=4x + 13



Squaring v/4x + 13 —

(VAx + 13 — 3)%= (V4x + 13 — 3)(V4x + 13-3)
= 4x +13-3/4x + 13



Squaring v/4x + 13 — 3:

(VAx +13 — 3)?= (V/4x + 13-3)(/4x + 13 - 3)
= 4x 4 13 — 3y/4x + 13-3/4x + 13




Squaring v/4x + 13 — 3:

(VAx +13 — 3)%= (V/4x + 13-3)(v/4x + 13-3)
—4x +13 —3v4x + 13 - 3y/4x + 13 +9




Squaring v/4x + 13 —

(VAx +13 — 3)?= (V/4x + 13 — 3)(v/4x + 13 — 3)
=4x +13 —34x +13 —3/4x +13+9




Squaring v/4x + 13 —

(VAx +13 — 3)?= (V/4x + 13 — 3)(v/4x + 13 — 3)
=4x +13 —34x +13 —3/4x +13+9

= 4x +22 — 6+/4x + 13




